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M.A. (Previous) Economics Examination, August/September 2009

DIRECTORATE OF CORRESPONDENCE COURSE
Paper - 111 : Quantitative Methods for Economists

(Freshers)

Time: 3 Hours Max. Marks: 80
NOTE: (1) Answer any FIVE of the following choosing not less than TWO from

each part.
BLus: SUARZHNYY CRTYIREES R z_ﬁ,:!_‘rWﬂ L dHrenhod 2 BIrds; oo

W3O,

(2) Al questions carry equal marks.
ST BIAONA BRRE Bodnes,

PART-Adyen -
If D = 300 - 10P and S = 400 - 20P are the demand and supply functions respectively.
Obtain the equilibrium price and quantity when a specific tax of Rs. 3/- per unit is
levied on supplier. Find the new equilibrium values.
edd oty D = 300 - 10P X edd owdsy S = 400 — 20P sopnl Xdews K3
2 BRREMY 505 LBWD. et ded T3 P24, 3 doTw 301 DR WECIET
XHAR0F B8 T3 YRS, YodLB0.

if the demand law is D = 200 — p — p? and supply law is S = p? + 3p ~ 28 find the
equilibrium price and quantity.

L1028 wortsy D = 200 — p — p? Xy dedd oWy S = p° + 3p - 28 <ot XHIReOR
B DX IARCT FcDLROWD.

Pareto's law of distribution of income for an economy is given by
x:l.l?
Find how many have income in between Rs. 1600 and Rs. 3,600?
I Deeiae I HICH TAFOHRT, VNS0 dedooha.
N = 8 x 10®
xaﬂ?
1600 <533 3600 TRTHID MEHHT VS WITT LoLeHR, omteB000.
If the total cost function of a certain firm is C = 3q? + 7q + 12, Find the average and
marginal cost functions.
200 sy 3wy C = 397 + 7q + 12 UADN X00XD XY JSR0T JT LoWIRIRY
oo,

Solve the set of simultaneous equations by using Cramer's rule.
BYNT XDOLYOrI 465007 SEDTDTI YA Ko,

2X, + X, + X, =4

X, X, +X,=6

3x, + 4x, + 2x, =3
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What is central tendency ? Calculate mean, median and mode for the following data.
deod) ech SRTIrdordesd ? SUNAS asaax!!‘ LOORD, :bl:!ed DX LELVINTI, Yo LAWD.

Class interval 0-10 10-20 20-30 30-40 40-50
SMRFe3s
Frequency 5 10 20 8 2
N
What do you understand by dispersion ? Calculate standard deviation for the following
data.
DUOF Qodidesd ? 9 B3t XY, W), LATtE dedabedf SY B8
Class interval 0-30 30-60 60-90 90-120 120-150
SmrFro3d
Frequency 10 - 15 20 5 3
uq)._a_
Calculate co-efficient of correlation for the following data.
BUAR X8, XBXOLOG rHIROEIS; OY, 8.
X 10 9 8 7 6 4 3 2 1
Y 14 15 16 14 13 12 11 10 8
Fit a straight line trend for the following data.
BUNT X8, 100 X0¢ SesdaD Bisx.
Year
S&F 1997 | 1998 | 1999 | 2000 | 2001 2002 2003
Production
R 50 80 100 120 | 140 150 120

Compute Fisher's Ideal Index number for the following data.
SUNT XY, HTOTT VTEF LRI, S8, Bod

Commodity ‘Base Year Current Year

xoe URO JdAF T8 S&F
Price Quantity Price Quantity
us ISR ua B0

A 10 4 12 5

B 12 6 13 8

C 10 2 9 10

D 8 - 1 10 6
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